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8.— Paul, what were you doing at nine last
night?
— 1 a movie in the cinema with my
friends.

B.watch
D.will watch

A.was watching
C.have watched

[B=]A
[ S B ) A S Ay i Jodb I R AR R
[iIREHHT]

fe R RS - AT — TR, B
FAATIN I, F5 AN IR YR S — H b I
BRI DS REERE AR A REHRE , HIEH
o A e T, IEE 22 A,

(7]

9. David is a tennis player. He to play
tennis when he was six years old.

A.begins B.will begin C.began D.has begun
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10.— Lucy, is your uncle a teacher?

— Yes, heis. He
years.

history for nearly 20

A.teaches

C.is teaching
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11.A new international airport

B.has taught
D.will teach

in the city
next year.

A.completes B.is completed

C.will complete D.will be completed
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12.— Alice, could you tell me London?

— Sure. Last Sunday.

A.when Mr. Smith left

B.when Mr. Smith will leave

C.when did Mr. Smith leave

D.when will Mr. Smith leave
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